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" The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct answer : " 1x10=10
ug GeIs! iR Tlevea

(a). In which year was the Imperlal Bank
of India established ? -

G 5S SrIRTEe cacs o Bfe afSdt
af 2

i) 1920/5530

(i) 1921/5533

(i) 1930/5»%0

(iv) 1935/»@«'
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. (b) Schedule 11 in the Bank Balance Sheet
relates to:

AT TGS T >>WWGWW
R0 2o ¢

"~ i) Deposits
IS
(i) Fixed Assets
(iii) Other Assets ' -
G TS

- (iv) Investments

- R

(c) Statutory obhgatlon of a banker 1s/ are
to—

@RI ﬁf“wﬁ ‘?ﬁ‘ﬂ T —
() honour customers cheques
A9 O T Aol

(i) maintain secrecy of customers’
account "

iR RPN ColisiTiEel I [
(iii) honour customers’ bills
o= R SRy
(iv) Both (i) and. i)

(i) e (i) TRABR
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(d) .The document which can be used only
‘for making local payment is— .

© (FRE AT olﬁmw FRRT AR T asf%a ofa
TR g —
i a cheque
G (5F
(i) a hbill of exchange
@ RfEw Re
(iii) a draft
@ g
(iv) a banker’s cheque
94 RPRG &
| (e) Overdraft is granted —
R e 3 —
(i) for long dufation
AEPT T AR
(i) for short duration

ZHIE N A AR

(iii) for medium duration
TP TS AR
(iv) All of the above
. evTT WBRER
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i) Bandhan Bank was establlshed in the
year

| oS I (5 AfOdT T C2fE |
(i) zoog/qooa
(i) 20123053
(i) 2015/3%05¢
(iv) 2018/%05v»

"{g) In India, banks prepare their Balance:
Sheet as per Schedule III of the Banking
Regulation Act, 1949.

RET [EE 358> TR RRR QST

G3F © THI PP wﬁ%'g@vm 4TS T |
(i) Correct
R
(ii) Incorrect
D37
(h) A banker’s lien is always a partlcular
~ lien.
R 7T WA [ow 791
(i) Correct
S

(ii) Incorrect
2k
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(i) A collecting banker is gfv_en statutory
protection only when he collects a
crossed cheque:

" @A (RS (53 MRaT FREIR B! IRAZIIN
RIS T W R
(i) Correct '
V@
(ii) Incorrect
R
() “Advances of a bank represents its
liabilities.” ,
“(@FT I TR (i effsfRfee w1

(i) Correct
N1

(i) Incorrect

g

2. Answer the following questions: 2x5=10
fResre erpr ey foral ¢
(a) What is scheduled bank'?

PP IeE [T IS QI 2

(b) What is Bank Balance Sheet ?
@A Yge-vig 3T @I ?

| () What is joint account?
Y f3pie I QI 2
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(d) Write two features of Négotiable
Instrument.

| T ViR zz?/taﬁ%;%%m

(e) What are Non-performing Asscts ?
ST A P QT 2
3. Answer any four of the following questlons
(in about 200 words each): 5x%4=20

| e WWWWM(M {000
»7q foeq9) 8

(a) D1st1ngulsh between pubhc sector
banks and private sector banks.
TR YT (X % [T 98T @"msnw
2T (T8l | o

(b) Prepare a spec1men of a Bank Balance
Sheet.

G @F TgEoIe T 4w FqWI

(c). Explain the procedures of opening a
bank account in the name of a
partnershlp firm.

mwwmmm—m @"awﬁm
AR FRARAARTICIR i 30 ‘

(d). Distinguish between promissory note
and bill of exchange. '

ﬁ%&%ﬂamﬁﬁwﬁmwm
el
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(e) - Briefly explain the various types of '
endorsements. '

RfSA erpia -RIFPRR 53 TR0 01

(ﬂ:» Br1eﬂy state the pr1nc1p1es of bank
lending. .

QI A ﬂf%wzsah 3 Wl

4. Discuss the advantages and dlsadvantages
of unit banking system and branch banking . .
- system. 5+5=10

(il R TS S =il @\ﬁszﬂwaﬁw
mwﬁwwwn :

Or/ el

Describe .the functions of modern
commercial banks. - 10

gl AT @ep PRPRR I 341
5. State the various.items on the liabilities side
in a Bank Balance Sheet. o 10
@T Tge-oIa] mmw‘eﬁmaﬁmu |
" Oor/a% '

' Dlscuss the different types of loans granted
by a banker to a customer. _ - 10

QfEte RS SaIpiat Rfew meﬁm
e 39 |
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6. Discuss the general relat1onsh1p between
‘banker and customer. 10

@%wwwmamwﬁﬁmw
11 |
Or/ﬂﬁ?)‘

State the general precautions which a
banker has to observe before opening a

deposit account. 10
@51 Tt f2piet (AIFIR Seaic @%awnawﬁaaﬁw
YT wwvﬁp: I

7. What is crossing of a cheque? Explain

various types of crossmg with examples.

2+8=10 |
9 @A W B 2 T Ridw e
SRISSERSLE RIS STl
or/al=t

- Who are ‘holder’ and ‘holder in due course’?
State the privileges of a holder in due

course. 4+6_= 10
‘G e IARRS 9 @F ¢ INRRS e
co T gReTE W FL
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